JL_

Function Machines - Creating Equations Name:
Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(p) (y) (n) (b) (m) (i) L
9 23 26 8 10 70
10 24 25 7 5 35 2
8 22 24 6 2 14
7 21 22 4 8 56 3.
4 18 20 2 3 21
4.
4) Input | Output 5) Input | Output 6) Input | Output .
(t) (r) (i) (a) (b) (h) '
3 21 13 8 40 10
7 49 14 9 24 6 6
10 70 7 2 8 2
6 42 8 3 12 3 .
9 63 9 4 20 5
8.
Nl in) |[27]45| 18] 72 8 | inw) |23|21|19] 127 .
OQut()| 3 |5 | 2| 8 Qut(b) | 9| 7| 5| 3
10.
11.
12.
1| inG) |10]9] 4|5 0 inqw [10] 9| 3|5
Out(y) | 20 | 19 | 14 | 15 Out(p) | 80| 72 | 24 | 40
Wl mw | 4]9]2]6 12) | in@ [ 10 12
Out(@ | 14 | 19| 12 | 16 Qut(r) | 8 [ 7| 10
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 1 11-121 8 | 0




C:h Function Machines - Creating Equations Name. Answer Key

Write an equation to show therelationship between theinput and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output D+ 14 = y
(p) (y) (n) (b) (m) (i) L
9 23 26 8 10 70 _
10 24 25 7 5 35 2 _N-18=D
8 22 24 6 2 14 X7 =i
7 21 22 4 8 56 3o Mx /=1
4 18 20 2 3 21 B
p+l4=y n-18=b mx7=i 4. tx7=r
4) Input | Output 5) Input | Output 6) Input | Output . i-5=a
(t) (r) (i) (a) (b) (h) '
3 21 13 8 40 10 b+t4=h
7 49 14 9 24 6 6
10 70 7 2 8 2 U=9=i
6 42 8 3 12 3 . —
9 63 9 4 20 5
tx7=r i-5=a b-4=h 8. w-14=Db
D inw |27]45| 18] 72 & [ nw [23]21]19]17 o i+10=y
Out(i)| 3 | 51| 2| 8 Out) | 9 (7| 5| 3
u+9=i w-14=b 1. VX8=p
11 t+10=a
12 g- 2=r
1| inG) |10]9] 4|5 0 inqw [10] 9| 3|5
Out(y) | 20 | 19 | 14 | 15 Out(p) | 80 | 72 | 24 | 40
i+10=y vx8=p
Wl mw | 4]9]2]6 12) | in@g [10]9]12
Out(a) | 14 | 19| 12 | 16 OQut(r) | 8 | 7| 10
t+10=a g-2=r

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 1 11-12( 8 | 0




JL_

Function Machines - Creating Equations Name:
Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(p) (y) (n) (b) (m) (i) L
9 23 26 8 10 70
10 24 25 7 5 35 2
8 22 24 6 2 14
7 21 22 4 8 56 3.
4 18 20 2 3 21
4.
4) Input | Output 5) Input | Output 6) Input | Output .
(t) (r) (i) (a) (b) (h) '
3 21 13 8 40 10
7 49 14 9 24 6 6
10 70 7 2 8 2
6 42 8 3 12 3 .
9 63 9 4 20 5
8.
Nl in) |[27]45| 18] 72 8 | inw) |23|21|19] 127 .
OQut()| 3 |5 | 2| 8 Qut(b) | 9| 7| 5| 3
10.
11.
12.
1| inG) |10]9] 4|5 0 inqw [10] 9| 3|5
Out(y) | 20 | 19 | 14 | 15 Out(p) | 80| 72 | 24 | 40
Wl mw | 4]9]2]6 12) | in@ [ 10 12
Out(@ | 14 | 19| 12 | 16 Qut(r) | 8 [ 7| 10
M odified 1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math www.CommonCoreSheets.com 1 11-121 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(a) (p) (n) (t) (h) () L
6 9 4 28 10 9
8 11 2 14 4 3 2
5 8 8 56 11 10
7 10 9 63 5 4 3.
9 12 7 49 6 5
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(W) (m) (b) (d) (u) (d) '
20 4 12 4 12 5
50 10 18 6 10 3 o
10 2 9 3 16 9
30 6 24 8 17 10 .
35 7 27 9 15 8
8.
Nl ine |8]2]4]09 8 | In@ | 5|6 8] 7 .
Out(u) | 64| 16 | 32 | 72 Qut (w) | 50 | 60 | 80 | 70
10.
11.
12.
1 inw | 5|8]10]09 10) [ jn) | 18|14 ] 20| 16
OQut(m) | 12 | 15 | 17 | 16 Qut(v) | 9| 7 | 10| 8
W inem) |10 9] 7] 4 12) [ In@ |30]12] 18] 60
Out(k) | 25|24 | 22 | 19 Qutd)| 5| 2 | 3|10

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 11-12( 8 | 0




JL_

Function Machines - Creating Equations Name. Answer Key
Write an equation to show therelationship between theinput and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output a+3= D
() (p) (n) (t) (h) () L
6 9 4 28 10 9
X =
8 11 2 14 4 3 2 nx /7=t
5 8 8 56 11 10
7 10 9 63 5 4 3 h-1=]
9 12 7 49 6 5 o
a+3=p nx7=t h-1=| 4, W=5=m
4) Input | Output 5) Input | Output 6) Input | Output . b-3=d
(W) (m) (b) (d) (u) (d) '
20 4 12 4 12 5 u-7=d
50 10 18 6 10 3 6
10 2 9 3 16 9
X =
30 6 24 8 17 10 . ex8=u
35 7 27 9 15 8
wW=5=m bx3=d U-7=d 8. dx10=w
D ine [8|2]4]9 & ( in@ |56 |8]7 . V+7=m
Out(u) | 64 | 16 | 32 | 72 Qut(w) | 50 | 60 | 80 | 70
ex8=u dx10=w 10. UF2=vV
117 mMm+15=Kk
12. at6=d
1 inw | 5|8]10]09 10) [ jn) | 18|14 ] 20| 16
Out(m) | 12 | 15| 17 | 16 Out(v) | 9 7 (10| 8
v+7=m u=2=v
W inem) |10 9] 7] 4 12) [ In@ |30]12] 18] 60
Out(k) | 25| 24| 22| 19 OQut(d) | 5 2 3 |10
m+ 15=Kk a+6=d
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 11-121 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(a) (p) (n) (t) (h) () L
6 9 4 28 10 9
8 11 2 14 4 3 2
5 8 8 56 11 10
7 10 9 63 5 4 3.
9 12 7 49 6 5
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(W) (m) (b) (d) (u) (d) '
20 4 12 4 12 5
50 10 18 6 10 3 o
10 2 9 3 16 9
30 6 24 8 17 10 .
35 7 27 9 15 8
8.
Nl ine |8]2]4]09 8 | In@ | 5|6 8] 7 .
Out(u) | 64| 16 | 32 | 72 Qut (w) | 50 | 60 | 80 | 70
10.
11.
12.
1 inw | 5|8]10]09 10) [ jn) | 18|14 ] 20| 16
OQut(m) | 12 | 15 | 17 | 16 Qut(v) | 9| 7 | 10| 8
W inem) |10 9] 7] 4 12) [ In@ |30]12] 18] 60
Out(k) | 25|24 | 22 | 19 Qutd)| 5| 2 | 3|10

M odified 1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 11-12| 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(t) (i) (h) (2) (9) (2) L
24 4 9 36 15 4
30 10 7 28 18 7 2
26 6 8 32 17 6
28 8 6 24 14 3 3
23 3 10 40 19 8
4.
4) Input | Output 5) Input | Output 6) Input | Output .
(p) (9) (d) (9) (k) (@) '
18 6 5 7 5 19
27 9 4 6 10 24 6
12 4 10 12 9 23
15 5 2 4 7 21 ’
9 3 6 8 8 22
8.
N1l in@ |69 7]10 8 | ing) | 13|18 19] 15 .
Out(u) | 12| 15| 13 | 16 Outw) | 3|/ 81| 915
10.
11.
12.
| inG | 2|10] 75 10) [ 1ne | 54|72 45|27
Out(t) | 10 | 50 | 35 | 25 Out(c)| 6 | 8| 5| 3
M| ingy) |12] 16| 15] 13 12) | tnw) | 10| 20| 14
out@) | 3| 7| 6| 4 out() | 5 |10]| 7

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11-12( 8 | 0




JL_

Function Machines - Creating Equations Name. Answer Key
Write an equation to show therelationship between theinput and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output t-20=i
(t) (i) (h) (2) (9) (2) L
24 4 9 36 15 4
X =
30 10 7 28 18 7 2 hx4=z
26 6 8 32 17 6 11 =
28 8 6 24 14 3 3 g-11=2z
23 3 10 40 19 8 A
t-20=i hx4=z g-11=z2 a p+3=g9
4) Input | Output 5) Input | Output 6) Input | Output . d+2= g
(p) (9) (d) (9) (k) (a) '
18 6 5 7 5 19 k+14=a
27 9 4 6 10 24 6
12 4 10 12 9 23
+ =
15 5 2 4 7 21 . at6=u
9 3 6 8 8 22 .
p+3=g d+2=g k+1l4=a . J1-10=w
N1l in@ |69 7]10 8 | ing) | 13|18 19] 15 . i x 5=t
Out(u) | 12 | 15| 13 | 16 Out (w) | 3 8 9 5
a+6=u j-10=w 10, e+9=c
11. y-9=p
12. w+2=i
| inG | 2|10] 75 10) [ 1ne | 54|72 45|27
Qut() | 10| 50 | 35| 25 Out(c) | 6 8 5 3
ix5=t e+9=c
M| ingy) |12] 16| 15] 13 12) | tnw) | 10| 20| 14
out | 3| 7| 6| 4 out() | 5 |10]| 7
y-9=p wW+2=i
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11-121 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(t) (i) (h) (2) (9) (2) L
24 4 9 36 15 4
30 10 7 28 18 7 2
26 6 8 32 17 6
28 8 6 24 14 3 3
23 3 10 40 19 8
4.
4) Input | Output 5) Input | Output 6) Input | Output .
(p) (9) (d) (9) (k) (@) '
18 6 5 7 5 19
27 9 4 6 10 24 6
12 4 10 12 9 23
15 5 2 4 7 21 ’
9 3 6 8 8 22
8.
N1l in@ |69 7]10 8 | ing) | 13|18 19] 15 .
Out(u) | 12| 15| 13 | 16 Outw) | 3|/ 81| 915
10.
11.
12.
| inG | 2|10] 75 10) [ 1ne | 54|72 45|27
Out(t) | 10 | 50 | 35 | 25 Out(c)| 6 | 8| 5| 3
M| ingy) |12] 16| 15] 13 12) | tnw) | 10| 20| 14
out@) | 3| 7| 6| 4 out() | 5 |10]| 7

M odified 1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11-12| 8 | 0




JL_

Function Machines - Creating Equations Name:
Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(y) () (u) (n) (r) (p) L
14 7 4 16 10 60
18 9 9 36 2 12 2
10 5 8 32 4 24
20 10 7 28 3 18 3.
4 2 2 8 6 36
4.
4) Input | Output 5) Input | Output 6) Input | Output .
(f) (W) (f) (m) (h) (i) '
24 8 2 16 27 7
30 10 7 21 28 8 6
12 4 4 18 25 5
21 7 10 24 29 9 .
9 3 3 17 30 10
8.
D] ine |56|24]16]80 8 | In(e .
OQut(t) | 7| 3| 2 |10 Out (v) | 7 8|6
10.
11.
12.
Nl inw | 3]|4]|5]2 100 { iIn) | 4| 3|10]| 8
Out(b) | 23| 24| 25| 22 Out() | 20 | 15 | 50 | 40
W inw |12|11]14] 13 12) | in@@ |[90]| 63| 45|27
Out(y) | 6 | 5| 8| 7 Out(m) |10| 7| 5| 3
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-121 8 | 0




JL_

Function Machines - Creating Equations Name. Answer Key
Write an equation to show therelationship between theinput and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output y = 2=
(y) () (u) (n) (r) (p) !
14 7 4 16 10 60 ux4=n
18 9 9 36 2 12 2 =
10 5 8 32 4 24 x 6 =
20 10 7 28 3 18 3 Ix0=p
4 2 2 8 6 36 o
y+2=f ux4=n Fx6=p 4 f-3=w
4) Input | Output 5) Input | Output 6) Input | Output . f+14=m
(f) (W) (f) (m) (h) (i)
24 8 2 16 27 7 h-20=
30 10 7 21 28 8 ®
12 4 4 18 25 5 8=t
21 7 10 24 29 9 ! 2=
9 3 3 17 30 10 1=
f+3=w f+14=m h-20=i 8 e-1=v
N in@ [56|24]16]820 & [ ineE . V+20=b
out@ | 73| 2110 out(v) | 7|3|81|6
e+8=t e-1=v 10. bx5=]
11. b-6=y
12 Z=9=m
V| inw [3]4a]|5]2 10 | in) | 4| 3|10 8
Out(b) | 23| 24| 25| 22 Out() | 20 | 15 | 50 | 40
v+20=Db bx5=i
W inw |12|11]14] 13 12) | in@@ |[90]| 63| 45|27
out(y)| 6 | 5| 8| 7 out(m) | 10| 7 | 5| 3
b-6=y z+9=m
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-121 8 | 0




JL_

Function Machines - Creating Equations Name:
Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(y) () (u) (n) (r) (p) L
14 7 4 16 10 60
18 9 9 36 2 12 2
10 5 8 32 4 24
20 10 7 28 3 18 3.
4 2 2 8 6 36
4.
4) Input | Output 5) Input | Output 6) Input | Output .
(f) (W) (f) (m) (h) (i) '
24 8 2 16 27 7
30 10 7 21 28 8 6
12 4 4 18 25 5
21 7 10 24 29 9 .
9 3 3 17 30 10
8.
D] ine |56|24]16]80 8 | In(e .
OQut(t) | 7| 3| 2 |10 Out (v) | 7 8|6
10.
11.
12.
Nl inw | 3]|4]|5]2 100 { iIn) | 4| 3|10]| 8
Out(b) | 23| 24| 25| 22 Out() | 20 | 15 | 50 | 40
W inw |12|11]14] 13 12) | in@@ |[90]| 63| 45|27
out(y) | 6 | 5| 8| 7 Out(m) |10| 7| 5| 3
M odified 1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-121 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(a) () (d) (m) (t) (€) L
3 15 22 10 24 6
7 19 14 2 23 5 2
5 17 21 9 25 7
8 20 19 7 27 9 3
6 18 20 8 22 4
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(b) (h) (h) (a) (@) (c) '
54 9 64 8 28 4
24 4 56 7 21 3 o
18 3 48 6 70 10
30 5 80 10 63 9 .
12 2 32 4 42 6
8.
D1 inm | 93] 5] 7 8 | in@e |6|4|8]7 .
Qut(a) | 18| 6| 10 | 14 Qut(u) | 13|11 | 15| 14
10.
11.
12.
| in@r) | 60| 42| 36| 24 10| in@ [23]20]| 28] 27
Out(c) |10 7 | 6 | 4 Qut(n) | 3| 9| 8| 7
M| in@ |10 4] 9] 8 ) inw | 9] 2|88
Out(g) | 18 | 12 | 17 | 16 Out(i) | 45| 10 | 40 | 30

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-12( 8 | 0




C:h Function Machines - Creating Equations Name. Answer Key

Write an equation to show the relationship between the input and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output a+ 12 :j
(a) () (d) (m) (t) (€) L
3 15 22 10 24 6 _
7 19 14 2 23 5 2 _d-12=m
5 17 21 9 25 7
8 20 19 7 27 9 . __t-18=e
6 18 20 8 22 4 Do
a+12=j d-12=m t-18=e 4 b+6=h
4 Input | Output 5) Input | Output 6) Input | Output . h-8=a
(b) (h) (h) (a) (@) (c) '
54 9 64 8 28 4 a-7=c
24 4 56 7 21 3 °
18 3 48 6 70 10
X /2=
30 5 80 10 63 9 v __hx2=a
12 2 32 4 42 6 7=
b+6:h h+8:a a+7:c 8. e _u
Dl inm) [ o |3]5]7 81 ine | 6] 4|87 . r+6=c
Out(@ | 18| 6 | 10 | 14 OQut(u) | 13| 11| 15| 14
nx2=a e+7=u 10. t-20=n
1172 C+8=¢g
12 ux5b5=i
| in@r) | 60| 42| 36| 24 10| in@ [23]20]| 28] 27
out(c) [10| 7| 6| 4 outm | 3|9 |87
r+6=c t-20=n
M| in@ |10 4] 9] 8 ) inw | 9] 2|88
Out(g) | 18| 12 | 17 | 16 Out (i) | 45| 10 | 40 | 30
c+8=g ux5b=i

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-12( 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(a) () (d) (m) (t) (€) L
3 15 22 10 24 6
7 19 14 2 23 5 2
5 17 21 9 25 7
8 20 19 7 27 9 3
6 18 20 8 22 4
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(b) (h) (h) (a) (@) (c) '
54 9 64 8 28 4
24 4 56 7 21 3 o
18 3 48 6 70 10
30 5 80 10 63 9 .
12 2 32 4 42 6
8.
D1 inm | 93] 5] 7 8 | in@e |6|4|8]7 .
Qut(a) | 18| 6| 10 | 14 Qut(u) | 13|11 | 15| 14
10.
11.
12.
| in@r) | 60| 42| 36| 24 10| in@ [23]20]| 28] 27
Out(c) |10 7 | 6 | 4 Qut(n) | 3| 9| 8| 7
M| in@ |10 4] 9] 8 ) inw | 9] 2|88
Out(g) | 18 | 12 | 17 | 16 Out(i) | 45| 10 | 40 | 30

www.CommonCoreSheets.com 11-12| 8 | O

1-10 {9283 75|67 [58|50( 4233|2517
[ M ath M odified 5 167[58]50[42[33]25]17]




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(2) (b) (b) (9) (e) (d) L
2 12 8 26 9 18
6 36 2 20 7 16 2
3 18 10 28 8 17
8 48 6 24 2 11 3.
4 24 7 25 6 15
4.
4) Input | Output 5) Input | Output 6) Input | Output .
(d) (p) (d) (f) () (h) '
2 20 7 27 22 9
4 40 8 28 16 3 6
6 60 3 23 21 8
8 80 10 30 23 10 ’
5 50 4 24 18 5
8.
N1 in | 5]2]9]3 8 | In) | 36| 27|54/ 18 .
Out(v) | 40 | 16 | 72 | 24 out(v) | 4 | 3| 6| 2
10.
11.
12.
N n@w 1614|1209 100 | 1ny | 15] 18] 21
Out@ | 9| 71| 5|2 Out(u | 5|6 | 7|2
W inw | 3]9]7]6s 12) | inw) |8]13]|14]|7
Out (v) | 14 | 20 | 18 | 17 out@i | 3| 8| 9|2

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 6 11-12( 8 | 0




JL_

Function Machines - Creating Equations Name. Answer Key

Write an equation to show therelationship between theinput and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output 7x6=Db
(2) (b) (b) (9) (e) (d) L
2 12 8 26 9 18
+ =
6 36 2 20 7 16 2 _b+18=g
3 18 10 28 8 17
8 48 6 24 2 11 s __€+9=d
4 24 7 25 6 15 B
zx6=b b+18=g e+9=d 4. dx10=p
4) Input | Output 5) Input | Output 6) Input | Output . d+20=f
(d) (p) (d) () () (h) '
2 20 7 27 22 9 6 J -13=h
4 40 8 28 16 3
6 60 3 23 21 8
X =
8 80 10 30 23 10 . fx8=v
5 50 4 24 18 5 o
dx10=p d+20=f [-13=h s _ b=9=v
Dl in®m [5|2]9]3 8 1 inw) [36|27]54]18 . t-7=a
Out(v) | 40| 16| 72 | 24 Out(v) | 4 3 6 2
fx8=v b+9=v 1. h=+=3=u
11 b+1l=v
12 b-5=i
V| in@w |16|14]12]9 100 | iInty | 15|18 21
OQut(@ | 9| 7| 5 OQut(uy | 5| 6 | 7
t-7=a h+3=u
W inw | 3]9]7]6s 12) | inw) |8]13]|14]|7

Out(v) | 14| 20 | 18 | 17
b+1l=v

out@[3]| 8| 9|2

75|67 [58[50( 4233|2517 |

6 1-10 | 9283
11-12| 8 | O
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C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(2) (b) (b) (9) (e) (d) L
2 12 8 26 9 18
6 36 2 20 7 16 2
3 18 10 28 8 17
8 48 6 24 2 11 3.
4 24 7 25 6 15
4.
4) Input | Output 5) Input | Output 6) Input | Output .
(d) (p) (d) (f) () (h) '
2 20 7 27 22 9
4 40 8 28 16 3 6
6 60 3 23 21 8
8 80 10 30 23 10 ’
5 50 4 24 18 5
8.
N1 in | 5]2]9]3 8 | In) | 36| 27|54/ 18 .
Out(v) | 40 | 16 | 72 | 24 out(v) | 4 | 3| 6| 2
10.
11.
12.
N n@w 1614|1209 100 | 1ny | 15] 18] 21
Out@ | 9| 71| 5|2 Out(u | 5|6 | 7|2
W inw | 3]9]7]6s 12) | inw) |8]13]|14]|7
Out (v) | 14 | 20 | 18 | 17 out@i | 3| 8| 9|2

M odified 1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math www.CommonCoreSheets.com 6 11-12| 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(V) (2) (k) (r) (W) (€) L
22 7 27 3 2 7
20 5 72 8 8 13 2
24 9 63 7 5 10
18 3 54 6 6 11 3
19 4 81 9 4 9
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(e) (2) (t) (W) (W) (d) '
17 6 23 3 2 16
18 7 29 9 3 24 6
15 4 30 10 9 72
16 5 26 6 5 40 .
21 10 25 5 4 32
8.
N ] In@d) |24]36|54]18 8 | In(a) .
OQut(u | 4 | 6| 9| 3 Qutd) | 7|5|4]|6
10.
11.
12.
| ine) |8|18]6] 16 0| inw [ 7] 2]9]s
Out(f) | 4| 9 | 3| 8 Out(r) | 49| 14 | 63 | 56
WY ine |9]2]|3]s 2| in@ | 9| 6] 4] 8
Qut(n) | 45| 10 | 15 | 40 OQut(g) | 15|12 | 10 | 14

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-12( 8 | 0




4éﬁ Function Machines - Creating Equations Name. Answer Key

Write an equation to show therelationship between the input and the output. Answers
D | input | output 2) | input | output 3) | input | output v-15=7
(V) (2) (k) (r) (W) (€) L
22 7 27 3 2 7 A
20 5 72 8 8 13 2. k=9=r
24 9 63 7 5 10 + 5=
18 3 54 6 6 11 3 W =e
19 4 81 9 4 9 ~
V‘15:Z k—9:|’ W+5:e 4. e_ll—z
4 Input | Output 5) Input | Output 6) Input | Output 5 t-20=w
(€) (2) (t) (W) (w) (d) '
17 6 23 3 2 16 6 wx8=d
18 7 29 9 3 24
15 4 30 10 9 72 A
16 5 26 6 5 40 7. _d+6=u
21 10 25 5 4 32
e-11=z t-20=w wx8=d 8. a-1=d
Nl ind) | 24|36]|54]18 8| in@ |8|6|5]|7 . f=o=f
OQut(u | 4 | 6| 9|3 Qut(d) [7|5|4]|6
d+6=u a-1=d 0. VXT7=r

11 ZzxXx5=n

2. Z+6=¢

| ine) |8|18]6] 16 0| inw [ 7] 2]9]s

out(f) | 4| 93] 8 out(r) | 49 | 14 | 63 | 56
r-2=f VXT7=r

WY ine |9]2]|3]s 2| in@ | 9| 6] 4] 8

out(n) | 45 | 10 | 15 | 40 out(g) | 15| 12 | 10| 14
zZx5=n z+6=¢

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-12( 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(V) (2) (k) (r) (W) (€) L
22 7 27 3 2 7
20 5 72 8 8 13 2
24 9 63 7 5 10
18 3 54 6 6 11 3
19 4 81 9 4 9
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(e) (2) (t) (W) (W) (d) '
17 6 23 3 2 16
18 7 29 9 3 24 6
15 4 30 10 9 72
16 5 26 6 5 40 .
21 10 25 5 4 32
8.
N ] In@d) |24]36|54]18 8 | In(a) .
OQut(u | 4 | 6| 9| 3 Qutd) | 7|5|4]|6
10.
11.
12.
| ine) |8|18]6] 16 0| inw [ 7] 2]9]s
Out(f) | 4| 9 | 3| 8 Out(r) | 49| 14 | 63 | 56
WY ine |9]2]|3]s 2| in@ | 9| 6] 4] 8
Qut(n) | 45| 10 | 15 | 40 OQut(g) | 15|12 | 10 | 14

M odified 1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-12| 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(n) () (n) (p) (n) (i) L
60 10 3 21 5 25
24 4 9 63 6 30 2
48 8 8 56 7 35
18 3 7 49 8 40 3.
36 6 6 42 4 20
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(m) (f) (W) (k) (b) (W) '
7 14 5 15 24 6
4 8 4 1 20 5 o
10 20 2 6 16 4
5 10 6 18 32 8 !
2 4 9 27 8 2
8.
N1line [5]|2]|9] 4 8 | In(b) .
Out(e) | 15| 12 | 19 | 14 out(i) | 3|7
10.
11.
12.
| In@d |27|26]|23]|028 10) [ ingr) [ 56| 28|49 14
Outm) | 9| 8| 5|10 out() | 8| 4| 7| 2
WM inw [5]10]|6]7 12) [ 1ng |12]18]| 15| 14
Out(2) |19 24| 20| 21 Out(h) | 2 8 5 4

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 11-12( 8 | 0




JL_

Function Machines - Creating Equations Name. Answer Key
Write an equation to show therelationship between theinput and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output n=6 :j
(n) () (n) (p) (n) (i) L
60 10 3 21 5 25 nx7=
24 4 9 63 6 30 2 =P
438 8 8 56 7 35 x 5=
18 3 7 49 8 40 3 nx5=|
36 6 6 42 4 20 B
n+6=]j nx7=p Nx5=i 4. mx2=f
4) Input | Output 5) Input | Output 6) Input | Output . wx 3=k
(m) () (W) (k) (b) (W) '
7 14 5 15 24 6 b~4=w
4 8 4 12 20 5 °
10 20 2 6 16 4
+ =
5 10 6 18 32 8 . _c+10=e
2 4 9 27 8 2
mx2=f wx3=k b-4=w 8. b-2=i
D{inE |5]2]|9]4 & mw |5 8 . d-18=m
Out(e) | 15| 12 | 19 | 14 out (i) | 3|7 6
c+10=e b-2=i 10. r+7=1
11. w+1l4=7
12. I -10=h
| In@d |27|26]|23]|028 10) [ ingr) [ 56| 28|49 14
Out(m) | 9|1 8| 5] 10 Qut(f) | 8 | 4 | 7 | 2
d-18=m r+7=f
WM inw [5]10]|6]7 12) [ 1ng |12]18]| 15| 14
Out(2) |19 24| 20| 21 Out(h) | 2 8 5 4
w+14=1z2 i-10=h
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 11-121 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(n) () (n) (p) (n) (i) L
60 10 3 21 5 25
24 4 9 63 6 30 2
48 8 8 56 7 35
18 3 7 49 8 40 3.
36 6 6 42 4 20
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(m) (f) (W) (k) (b) (W) '
7 14 5 15 24 6
4 8 4 1 20 5 o
10 20 2 6 16 4
5 10 6 18 32 8 !
2 4 9 27 8 2
8.
N1line [5]|2]|9] 4 8 | In(b) .
Out(e) | 15| 12 | 19 | 14 out(i) | 3|7
10.
11.
12.
| In@d |27|26]|23]|028 10) [ ingr) [ 56| 28|49 14
Outm) | 9| 8| 5|10 out() | 8| 4| 7| 2
WM inw [5]10]|6]7 12) [ 1ng |12]18]| 15| 14
Out(2) |19 24| 20| 21 Out(h) | 2 8 5 4

M odified 1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 11-12| 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(9) (i) (d) (m) (p) (€) L
4 32 8 27 7 13
6 48 5 24 10 16 2
7 56 3 22 2 8
3 24 6 25 3 9 3.
2 16 10 29 9 15
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(V) () (V) (t) (u) (€) '
6 18 80 8 48 6
9 21 20 2 80 10 o
7 19 30 3 56 7
8 20 70 7 24 3 .
5 17 100 10 16 2
8.
D1 mw | 7]5|2] 8 8 | inG | 5|68 2 .
Out(k) | 12| 10| 7| 13 Out(t) | 45| 54| 72| 18
10.
11.
12.
| in@e |12|11]6]5 100 [ inm) [ 6| 9| 4] s
Out(r) | 9| 8 | 3] 2 Out (w) | 30 | 45| 20 | 40
| inm) |15]45] 25|30 12) [ iInee | 6|2]10] 5
Out(k) | 3| 9| 5| 6 Out(v) | 12| 4| 20| 10

9 1-10 | 92|83 75|67 [58[50] 4233|2517 |
11-12[ 8] 0
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C:h Function Machines - Creating Equations Name. Answer Key

Write an equation to show therelationship between theinput and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output g x 8=
(9) (i) (d) (m) (p) (€) L
4 32 8 27 7 13
+ =
6 48 5 24 10 16 2 _d+19=m
7 56 3 22 2 8 + 6=
3 24 6 25 3 9 3 PTO=F€
2 16 10 29 9 15 .
gx8=i d+19=m p+6=e 4. v+12=)
4) Input | Output 5) Input | Output 6) Input | Output . v=10=t
(V) () (V) (t) (u) (€) '
6 18 80 8 48 6 U~-8=e
9 21 20 2 80 10 °
7 19 30 3 56 7
+ =
8 20 70 7 24 3 ! t+5=k
5 17 100 10 16 2 i x 9=t
vV+12=j v+10=t u+8=e 8. I —
Dl nw | 7]5]|2]8 & ma [5]|6]8]2 .  e-3=r
Out(k) | 12 {10 | 7 | 13 Out(t) | 45| 54 | 72 | 18
t+5=k ix9=t 0. MXxX5=w
1. n+5=Kk
12. ex2=v
V| in@© [12]11]|6]5 0 inm) | 6| 9| 4]s
out(r) | 9| 8 |32 Out (w) | 30 | 45 | 20 | 40
e-3=r mx5=w
| inm) |15]45] 25|30 12) [ iInee | 6|2]10] 5
out(k) | 3| 9| 5| 6 Out(v) | 12| 4 | 20| 10
n+5=k ex2=v

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 11-12( 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(9) (i) (d) (m) (p) (€) L
4 32 8 27 7 13
6 48 5 24 10 16 2
7 56 3 22 2 8
3 24 6 25 3 9 3.
2 16 10 29 9 15
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(V) () (V) (t) (u) (€) '
6 18 80 8 48 6
9 21 20 2 80 10 o
7 19 30 3 56 7
8 20 70 7 24 3 .
5 17 100 10 16 2
8.
D1 mw | 7]5|2] 8 8 | inG | 5|68 2 .
Out(k) | 12| 10| 7| 13 Out(t) | 45| 54| 72| 18
10.
11.
12.
| in@e |12|11]6]5 100 [ inm) [ 6| 9| 4] s
Out(r) | 9| 8 | 3] 2 Out (w) | 30 | 45| 20 | 40
| inm) |15]45] 25|30 12) [ iInee | 6|2]10] 5
Out(k) | 3| 9| 5| 6 Out(v) | 12| 4| 20| 10

M odified 1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math www.CommonCoreSheets.com 9 11-12| 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(a) (k) (V) (n) () (a) L
10 100 90 9 16 8
2 20 50 5 12 6 2
8 80 40 4 8 4
5 50 20 2 18 9 3
3 30 60 6 4 2
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(c) (2) (f) (r) (t) (h) '
19 8 4 12 22 3
21 10 3 9 21 2 o
13 2 7 21 28 9
18 7 5 15 27 8 .
16 5 6 18 23 4
8.
Nl inw |24|8]36]12 8 | InG) |4|10]8 .
Outw) | 6 |2] 9| 3 Qut(u) | 3| 9 |7|6
10.
11.
12.
Dl iny [ o 8|18 001 ingr) [ 6| 8] 7|5
Out(t) | 14| 13| 15| 11 Out(y) | 24| 26 | 25 | 23
M| n@ [6|10] 9|5 ) [ jney) |[3]2] 4|8
Out(w) | 9|13 |12 | 8 Out(z) | 9|6 |12 | 24

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 10 11-121 8 | 0
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Function Machines - Creating Equations Name. Answer Key
Write an equation to show therelationship between theinput and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output ax10=k
() (k) (V) (n) () (a) L
10 100 90 9 16 8 _
2 20 50 5 12 6 2 _v+10=n
8 80 40 4 8 4 L=
5 50 20 2 18 9 3. 1~<c=a
3 30 60 6 4 2 _
ax10=k v+10=n jt2=a 4. c-11=z
4) Input | Output 5) Input | Output 6) Input | Output . fx3=
(c) (2) (f) (r) (t) (h) '
19 8 4 12 22 3 t-19=nh
21 10 3 9 21 2 6
13 2 7 21 28 9 U< d=w
18 7 5 15 27 8 . s
16 5 6 18 23 4 1=
c-11=z fx3=r t-19=h 8. J-1=U
D inw |24]8]36]|12 & ng 108 o y+5=t
Out (w) | 6 9 | 3 Out (u) 9 17]|6
u+4=w j-1=u 100 +18=y
1. Z+3=WwW
12. yx3=z
Dl iny [ o 8|18 001 ingr) [ 6| 8] 7|5
out() | 14| 13|15 |11 Out(y) | 24 | 26 | 25 | 23
y+5=t r+18=y
M| n@ [6|10] 9 ) [ jney) |[3]2] 4|8
out(w) | 9| 13| 12 out(z |9|6]| 12|24
zZ+3=w yx3=2z
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 10 11-121 8 | 0




C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(a) (k) (V) (n) () (a) L
10 100 90 9 16 8
2 20 50 5 12 6 2
8 80 40 4 8 4
5 50 20 2 18 9 3
3 30 60 6 4 2
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(c) (2) (f) (r) (t) (h) '
19 8 4 12 22 3
21 10 3 9 21 2 o
13 2 7 21 28 9
18 7 5 15 27 8 .
16 5 6 18 23 4
8.
Nl inw |24|8]36]12 8 | InG) |4|10]8 .
Outw) | 6 |2] 9| 3 Qut(u) | 3| 9 |7|6
10.
11.
12.
Dl iny [ o 8|18 001 ingr) [ 6| 8] 7|5
Out(t) | 14| 13| 15| 11 Out(y) | 24| 26 | 25 | 23
M| n@ [6|10] 9|5 ) [ jney) |[3]2] 4|8
Out(w) | 9|13 |12 | 8 Out(z) | 9|6 |12 | 24

M odified 1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 10 11-12( 8| 0
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